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There are forty questions on this paper. Answer all questions.

For each question, there are four possible answers A, B, C and D.- Choose the one you consider

correct and record your choice in soft pencil on the separate answer sheet.
If you want to change an answer, thoroughly erase the one you wish to delete.
The Periodic Table is printed on page 14.
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Each correct answer will score one mark.

Any rough working should be done in this booklet.
All questions in this paper-carry equal marks.

You may use a non-programmable calculator,

This document consists of 14 printed pages and 2 blank pages.
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1 The diagram shows a measuring cylinder filled with water up to a certain level, and
the same measuring cylinder with a stone completely immersed in the water.
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What is the volume of the stone?

A 51cm?
B 60cm?
C 70cm?
D 90cmd

2 Which quantity is a scalar?
A acceleration
B displacement
C momentum

D temperature

3 The speed time graph shows part of the journey.
A

30 1

speed 15 -
m/s

»
T >

0 10 20
time/s

What is the total distance covered for this part of the journey?

A 150 m
B 300m
C 600m
D 900m
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4 The speed time graph represents the motion of a motorist for 900 seconds.

A
20
speed
m/s
10
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time/s
Which row describes the motion?
Time
0-100 100 - 500 500 - 900
at rest constant speed at rest

constant acceleration

at rest

constant deceleration

constant acceleration

constant speed

constant deceleration

O|0o(m|>

constant speed

at rest

constant speed

5 The mass of an empty measuring cylinder is 8.5 g.

When 20 cm? of a liquid is added to the measuring cylinder, the mass increases to
26.5g.

What is the density of the liquid?

A
B
C
D

0.25 g/cm?®
0.90 g/cm?
1.2 g/cm?
1.4 g/cm?3

6 The diagram shows a block of steel of dimensions 6.0 cm x 5.0 cm x 3.0 cm.
The density of steel is 7.85 g/cm?.

~5.0cm

—p !
[ |

3.0 ch

What is the mass of the block?

A 0.087g
B 11.46g
C 109.90g
D 706.50 g

/6.0 cm
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7 The diagram shows a heater in a box that contains air.
A thermometer is fixed in the box. The thermometer bulb is in the position as shown.

thermometer
box bulb

‘// //air

= — -

thermometer

—
\

heater

Which row shows the main process by which thermal energy is transferred through
the air and from air particles to the thermometer bulb?

through the air from air particles to the thermometer bulb
A | conduction convection
B |convection radiation
C | convection conduction
D |conduction radiation

8 The diagram shows an eagle landing. The eagle is landing in a vertical direction
downward.

In which direction does air resistance act on the eagle?

9 An electric wire has a diameter of about 0.23 mm.
Which instrument can be used to give the most accurate measurement of this wire?
A measuring tape
B meter stick
C micrometer
D

rope and ruler
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The gravitational field strength on the moon is 1.6 N/kg. An astronaut has a weight
of 120 N on the moon.

What is the mass of the astronaut?

A 12kg
B 75kg

C 120kg
D 192Kg

A ball of 0.4 kg mass moving at a speed of 10.0 m/s collides head on with another
ball of 0.2 kg mass moving at a speed of 5.0 m/s in the opposite direction.
The two balls stick together after collision.

What is the velocity of the two balls after collision if momentum has been conserved?

A 50m/s
B 6.7m/s
C 83mis
D 15m/s

The specific heat capacity of water is 4 200 J/(kg°C).

What is the amount of heat required to change the temperature of 5 kg of water from
5°C to 20 °C?

A 105kJ
B 315kJ
C 420kJ
D 525kJ

A 600 g object is on top of the tower and has 9 600 J of energy due to its position
above the ground.

How high is the tower?

A 16m
B 160m
C 1600m
D 16000 m

Which type of energy is a result of regrouping of atoms?

A chemical

B geothermal
C nuclear

D solar
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Which quantity is defined as the amount of heat energy absorbed or emitted when
a kilogram of a substance changes state?

A
B
C
D

the heat capacity of a substance
the latent heat of a substance
the specific heat capacity of a substance

the specific latent heat of a substance

A fruit falls from a tree, then hits the ground and stops.

Which energy changes occur?

A
B
Cc
D

gravitational potential energy — kinetic energy — sound energy
gravitational potential energy — sound energy — kinetic energy
kinetic energy — gravitational potential energy — sound energy

kinetic energy — sound energy — gravitational potential energy

Temperature always remain constant during phase changes.

What is the reason for constant temperature during boiling?

A
B
C
D

The heat energy is released to the surrounding by the system.
The heat energy is used to overcome the inter-particle forces.
The kinetic energy is increased without increasing the potential energy.

There is no heat energy supplied during boiling.

Which term is the distance between two successive in phase points on a wave?

A
B
C
D

amplitude
frequency
wavefront

wavelength
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19 The diagram shows a ray of red light travelling from air into a glass prism with a
refractive index of 1.5 at point S.

._hormal

ray of
red light

The red light ray enters the glass prism at an angle of incidence, i, of 30.0°.

Which row gives the angle of refraction, , and the change in direction of the ray
inside the prism?

angle of refraction, r change in direction
A |19.5° away from the normal
B [19.5° toward the normal
C [30.0° away from the normal
D |30.0° toward the normal

20 Which row shows what happens to the properties of a wave as the wave enters a
different medium?

no change change

A |frequency period

B |frequency wavelength

C |speed wavelength

D |[speed frequency

21 The diagram shows the electromagnetic spectrum.
L X-ray |ultraviolet |visible light M microwaves N
Which types of wave are L, M and N?
L M N
A | gamma rays radio waves infrared
B [gamma rays infrared radio waves
C [infrared gamma rays radio waves
D |infrared radio waves gamma rays
6118/1/22
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The amplitude of a sound wave is increased and the frequency is decreased.
What happens to the pitch and loudness of the sound heard?

A The sound has a higher pitch and is louder.

B The sound has a higher pitch and is softer.

C The sound has a lower pitch and is louder.

D The sound has a lower pitch and is softer.

What is the correct symbol for the units of loudness of sound?
A Db

B dB
C Hz
D Hz

A Physics student has trouble seeing distant objects clearly.

Which row gives the student’s eye defect and the type of lenses that the
student needs?

eye defect needed lens
A |far-sighted concave
B |far-sighted convex
C |short-sighted concave
D |short-sighted convex

Which term is referred to as workdone per unit charge?

A current
B energy
C power

D voltage

The diagram shows part of an electric circuit.

20 3Q

| I )

5Q

What is the total resistance in the circuit?

A 220
B 7.2Q
C 12.3Q
D 14.00Q
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27 Which electrical symbol represents a diode?

A @ B —

c—#l— D—Dt+——

28 In an electric circuit, 40 C of electric charges passes through a bulb that runs on a
12 V supply in 5.0 s.

What is the electric power of the bulb?

A 150W
B 16.7W
C 57.0W
D 9%.0W

29 The diagram shows an electric circuit with three resistors connected in parallel and
four ammeters A, B, C and D.

Which ammeter shows the largest reading?
A

(A 2N
@/:I—
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30 The diagram shows an arrangement in an electric circuit.

10

2o de

X

heater —_

Which row is correct about component X?

component X
A fuse break the circuit when the current is too high
B fuse control the voltage in the circuit
C rheostat break the circuit when the current is too high
D rheostat control the voltage in the circuit

31 Astudent wishes to demonstrate electromagnetic induction. She has the connectivity

wires and a voltmeter.

Which other apparatus does she need?

power supply magnet
A v v
B v X
C x v
D X X

Key
v’ = needed
x = not needed

32 The diagram shows a transformer. The primary coil has an input of 240 V.

The secondary coil has an output of 12 V.

]
Il

\VAA'AA'AAA'AVAA A

240V 1Y

o

annnnnn

S 12V

Assuming it is an ideal transformer and has an output current of 40 A.

What is the input current?

A 2A
B 20A
C 72A
D 800A
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33 The diagram shows a bar magnet and bar X.

34

When the magnet is moved closer to bar X, it attracted bar X.

N magnet S X

—_—

Which element is bar X made from?

A
B
C
D

copper
cobalt
magnesium

manganese

The diagram shows the magnetic field of a bar magnet with poles labelled M and O.

Which statement correctly identifies the poles of the magnet?

A

B
Cc
D

M is the North pole because the field lines run from South to North.
M is the South pole because the field lines run from North to South.
O is the North pole because the field lines run from South to North.
O is the South pole because the field lines run from North to South.
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35 The diagrams shows two magnets PQ and RS.

36

37

38

When they are placed end-to-end, P attracts S and Q repels S. R is South pole.

Which row gives the correct poles of P, Q and S?

P Q S
A | North South North
B |South North South
C ([South North North
D |North South North

The nuclide notation of an isotope of carbon is ";C.

Which row gives the composition of a neutral atom of this isotope of carbon?

number of protons | number of neutrons | number of electrons
A 6 8 6
B 14 8 8
C 6 8 14
D 6 14 6

Which statement correctly defines isotopes?

A
B
C
D

Atoms of the same element with different numbers of electrons.

Atoms of the same element with different numbers of neutrons.

Atoms of the same element with different numbers of protons.

Atoms of the same element with the same numbers of nucleons.

Which statement describes the nature of an alpha particle?

A

B
C
D

a helium atom

a helium nucleus

an electron from the nucleus

an electron from the shell
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39 A uranium isotope decays according to the following equation.

40

234
92

U—"X+B

Which row gives the correct symbol for X and the correct value for A and z?

A X z
A 232 Np 90
B 232 Th 90
C 234 Np 93
D 234 Th 93

A radioactive isotope sample contains 3 600 atoms.
The isotope has a half-life of 3 hours.

Which statement is correct?

A

B
C
D

Only 450 atoms will have decayed after 3 half-lives.
Only 450 atoms will survive after 3 half-lives.
Only 450 atoms will have decayed after 3 hours.

Only 450 atoms will survive after 3 hours.

6118/1/22

321007



14

*(d'yJ) ainssaud pue ainjesadwa) wool je (Wp ¢ sI Seb Aue Jo 80w duo Jo awN|oA 8YyL

€0l 4118 1) 00l 66 86 16 96 66 6 €6 26 16 06 q
wnouaime | wnieqoN | wniAsepusly [ wnwieq | wnuieisuig | wniuoyien | wnyexieg wnungy wnpuswy | wnuonid wnjunydaN wnjueln wnjuioejold wnuoy) | Jequnu (owwore) uojoud = q
Ll ON PN w4 s3 10 g wo wy nd dN n ed ul loquiAs owoe = Y X
8cz €2 SSBUW OJWOJe BAe[el = B e fay
[ 0L 69 89 19 99 g9 ¥9 €9 29 19 09 68 8¢
wniein WiNIgIaRA wninyL wnigg wniwjoy | wnisoidsAg | wnigial | wniuopes | wnidong | wnuewes | wniyswold | wniwAposN | wniwAposseld | wnue)
n qA wj i3 OH Aq qlL ] n3 ws wd PN id 90 S14as pIoundY €01 - 064
S €Ll 691 191 g9l 291 651 161 ¢Sl 0S1 124 34 oyl S$9119s ploueyjue |/ - 86,
88 /8
wnipey wniouel4
ey i
9zt
98 a8 8 €8 8 08 6. 8L 1L 9. Gl yL €L 2L « 19 9g as
uopey aupe)sy wnjuojod ynwsig pea 1 JSTIET ploo wnune|d wnipy| wnjwsQ wniuayy usjsbun] wnjeyuel | wnjujeq | wnueyyue wnieg wnisae)
uy W od g ad 11 BH ny d 1] SO %y M el H e eg $J
602 102 ¥02 102 161 g6l z61 06} 98l 8L 18l 8Ll 6el L€1 eel
S €g s 1S 0§ 61 8t Ly 9v 14 144 [54 44 84 014 6¢ 8¢ L€
uousy aulpo| wnunj|aL Auownjuy ulp wnipu| wniwpeo JBNIS wnipe|ied wnipoyy wnuayiny | wnpauyosy | wnuapghjon wniqoiN | wniuoauz WNERA wnpuoss | wnipigny
X 1 ol as us uj P By Pd Uy ny 9] ON AN 1z A 1S qy
1) yr4s 8zl [44% 6L Gl 41 801 901 €0l 10} 96 €6 16 68 88 a8
9¢ Ge ve €¢ 143 e 0¢ 62 8z 1T 9 o4 124 €2 144 (¥4 02 6l
uoydAry aujwolg wnjus|es ouasly | wnuewssg wnijjen ouiz Jaddon [9YIN pI[:1oTele) uoJ| asauebuely wnjwolyy wnipeuep | wnuey] | wnipueog wnpey | wnissejod
M ig 39S sy 99 €9 uz no IN 0J CE | U 10 A L s €D A
8 08 6. 7] €L 0L g9 9 69 69 9g gs 4 1S 8y 14 [0i4 6¢
8l Ll 9l Gl 14} €l 4 1)
uobuy E T nyng snioydsoyd uool|Ig wnuwnpy wnissubeyy | wnipog
1y 19 S d IS v 1 eN
4 G'se 43 [ 8¢ 12 74 €C
oL 6 8 L 9 o 14 €
uosN aulon|4 uabAxQ uaboujIN uogien uolog wniAiag wniyi
SN E| (0] N J g °g n
0T 6l 9l 1] 14} 1 6 L
14 3
eI uaboipAH
9H H
14 }
0 IA A N _ _ I |
dnoig

SjUSWa|3 3y} 4O a|qeL PO By L
133HS viva

6118/1/22

321007



15

BLANK PAGE

6118/1/22

321007



16

BLANK PAGE

The DNEA acknowledges the usage and reproduction of third party copyright material in the NSSC Assessment, with and without permission
from the copyright holder. The Namibian Government Copyright Act allows copyright material to be used limitedly and fairly for educational
and non-commercial purposes.

The Directorate of National Assessment and Examinations operates under the auspices of the Ministry of Education, Arts and Culture in
Namibia.

© MoEAC/DNEA 6118/1/22

321007



